
��� � �����
	���
�������������� ������� ������� � �"!#�%$�&'�)(�*
�+��,-��.0/21#� 
43�5768��,9�0� ��:

;=<#>@?BADCFE"E�GIH�J"KMLONPK2QRC+S0TVUWE0KMXYGIZ�N\[]N�^YN\[`_+K2acb�[
d�eOegfhfWikjVlhmonqpsrWtvu�wxf9yoizn7{}|~{sy��
��jVj�ik�h�sy�y�r����������B�4���������������s���]�B���`�\�������]�B� �¢¡4�£�¢¤B¥¦�����§¡¦¤�������¨B¨7�©�¢�¦�ª�B�«�4� ¡���¨B�¦���B¬4��¨s�������]�ª�B�«���z¡4­
®V�ª�����£�¦�4¨§�¦�4¥]�4� ¡¯�¢¡¦���ª�7­
°��ª�«¨B����±§�8¡²����¨§�³���§��¡�´�µ��¦� �¢�B�B�B�����ª�²�¢�
¶"��·¹¸Y�¦�2�²�¢�k�§�4¥²��¡¦¡²���7�º�²�¢�k�§�4�¦���ª�����4�B�ª�4�ª�«��¡²�¦��¥¦��¡¦�ª���z�B���B�2��»��ª¨¼���²�¢¡¦���ª�§�4�¦�B�§­
�B��½¾�ª�¿»k�¦�4¥�¥¦�¢¡²¥
®W�¦���B¬4��¨s�����¦��¡4�

n À ¡¦�4�ª�¦���B¥]�4� »¢�¢¡¦���ª�B�����k¬¯ÁÂ�¢���ª��¤B�²�¢�B¥£·o�B�B�s���«�4� ¡¯�¢��¥²��¡²¥4­Ã+�sy�rkµ£¡]¡-�z�B�B�s�"¤¼�4�²�¢�k�B�0�¦�4�����§�4���Ä�������ª�¿�s���]�B�4���Ä��¤B¥]�ª���§¡¦¤¼�4���ª¨B¨Å�k¬¯Á8���ª���]�B�ª�¢¡9¡¦�����z��¡¦¡-������¨§����±k¡
¡¯�¢�`­
µ£¡¦¡Æ�ª¤¼�4ÁB���B�B�¦�¢¡Æ�k�§�B�s�Å�¦���z�s���«�4�����ª�«¨B���Ç±B��¡²���`� ¨sÈ�·o�ª�¦�«�4�]�s�

a+ bi
�
r(cos(θ)+ i sin(θ))

�k¬¯Á
reiθ
­

µ£¡¦¡��z�B�§�s�2¡²�������8�²���z�B���ª¨¼�4�¦�¢¡²���ª�B���¦�s�'�ª�4�ª�«��¡¦�¦��¥¦� ¡��Iµ��¦� �¢�B�B�B�����ª�¦����­
µ£¡¦¡��z�B�§�s�«��Éª¥²�2�¢�����'�¢�B�B�²�¢�ª�²���§¥¦�4� »¢��¡²���ª�B�4���«�4���¦���4�����8���k��Ê«¬4���4� ¡²���4­
µ£¡¦¡��z�B�§�s�«��Éª¥²�'��� »¢�¢¡¦���ª�B���

wn = z
�sÈ

z
���@��¡]¡����ª�«¨B���Ç±Y¡@¡²���`­

dgizËºu¼wÌw=ikjhlhizÍÄ{sl�iÂÎYÏ�jhm�j�Ðº{BÍzrµ�»k¥¦�B�¿¡¦¡ ÑÒ�B¥]¡¦�B�B���¦���§�ª¥¦�B¨§¨B�ª��·¹¡¦�4� Óh�²���B���B�ª¥]�B¨B¨B�ª�¿·¹¡²��� Óh���ª�¦��¡²��¥]���2�B¨B¨B�ª�¿·¹¡²���
µ�¨B¨¼�4�B�§�¿±ÕÔ Ôª�ºÖY�¾×§�ØÔ~Ù§�ØÔÄÚk�ØÔ~×§�ÂÛ�Ù§�ÂÛ�Ö Ü�ÜB��Ü ÝßÞ9±Y¡¦�²��Ôvào�B�4�B���ºá

Û�×§�¾Ù§Ô��¾ÙªÙ§�¾Ù Ök�¾Ù ÚâÜBÔª�ÂÖ¢Ü
d�eäã'å�r-æÆÍ�m�Ðºu¼jhu¼w=i |~Í�mÒ�
¶"��¡²�¦���ª�ª�B���«��¡²�]��¥¦�Ä�8·o�§�B� ¡²�����B�4�]�s�§�

sin
�
cos
�
tan
�k¬ÇÁ

cot
­

ç�moËè|ÄmoÐº{Õé�|~{BjVl�{BÍ�l�ÏIm�j�ËIy�{§Ív{§|�|«ËIêhjVj�{=ê�|~{sj¼|Äm�y�yÒr
sin 0 = cos π

2
= 0
­

sin π

2
= cos 0 = 1

­ sin π

3
= cos π

6
=

√

3

2

­
sin π

6
= cos π

3
= 1

2

­ sin π

4
= cos π

4
=

√

2

2

­

ë�i¾Ï�m�Ë�|Äm�Ðº{sé�|~i�|~Í�m�Ðºu¼jhu¼w=i |�Í�moé4Ë§{}ìMuºÍ�wÌyoikÍ�j�{Õ{§|4|«ËIêVjhjh{=êI|~{sj¼|Äm�y�y

sin2 v + cos2 v = 1
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sin(u + v) = sin u cos v + cos u sin v
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cos(u + v) = cos u cos v − sin u sin v
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x1 + ax2 + x3 = 1
ax1 + x2 + x3 = a + 1
x1 − x2 + x3 = a + 2
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